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1) With one straight line, turn the following three numbers into 445:  
  
  

I5     I0     5  

   

2) One of the following five words does not fit in with the others. Which is it?  

Munificence  

Magnanimity  

Penury  

Benevolence  

Philanthropy  

   

3) Find the hidden phrase or title.  
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Solutions:

1. 	Add the straight line to the top of the “I” in “I0”

	 I5 TO 5

	 On a clock face, fifteen to five is 4:45

2. Penury, which is stinginess or miserliness, doesn’t fit with the others.  
	 All the other words are associated with generosity.

3. Mid-term examination


